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Characteristic polynomial of T^{-1} = Minimum polynomial of T^{-1}. See the notes I WILL post  (no points are taken off since there is a missing material that I did not provide)
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be careful here. T(v) = -v only for v in E_{-1}(T) not for all v in V. What you can show here that 0 is an eigenvalue of T + I. Hence  Z(T + I) not equal {0}. Thus T + I is not 1-1 and hence T + I is not invertible.  To show that 0 is an eigenvalue of T + I.  Let v be a nonzero element of E_{-1}(T). Then (T + I)(v) = T(v) + I(v) = -v + v = 0_v.

Note that we conclude that the characteristic polynomial of T + I  has  0-constant (note that multiplication of all eigenvalues of T + I (with repetition ) = det(Matrix presentation of T + I with respect to some basis of V) = + -   constant term of the characteristic polynomial of T + I  . 
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NOT CORRECT
F is not 0
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eigenvector or eigen-element








